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Answer the following questions: (50 marks)

I- Writc thc scicntilic term of the lbllowing statcmcnts:

l. A community plLrs tl"re nonliving factors with which it interacts.

2. Moving ol members of a population out of a given area.

3. An interaction between species that enhances the fitness of the exploiting

inclividuals while reducing the fitness of the exploited individual.

4. 'l'lie stuciy of changes in the size and composition of populations, and the

lactors irT fl r"rencing these changes.

5. One animal attached to another exclusively for transport.

6. InclividLrals oIdifferent species compete fbr the same resource.

7. A relationship between Rhizobium and plants in the family Fabaceae.

8. The tolal number of organisms in the population.

9. All environmental lactors which limit the growth of populations

10. 'lhe number olorganisms of dilferent ages.

drLJ,a 1 (-l aLliaYl

II- Choosc the correct answcr ancl also write its letter in the answers tablc bclow: (20 marks)

2- Which distribution pattcrn does tcrritori:rlity produce?

l- 'l'hc statistic:rl stutly of popul:rtions is called

A) clensity

C) clemography

A) Itandom

C) Cluniped

B) dispersion

D) lecLrndity

B) Unil'orm

D) None ol'the above
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A) scrarrblc comnctition

(') i'ililr leruiiee e.;iiipctii.ioi:

A) I-ichcn

C) ('oral [(cci'

[- Ur" of the lblkrwing is not related to the others.

In; r,hor"ry

,C) InclLrilinisrn

h) Cornpetition

C) Parasitism

A) Cornmensalism

C) Amensalism

A) constant tlrroLrghoLlt lif-e

C) lclwcr aflcr the organisms become established

0- Whlt typc of survivorship curve do humans have?

tllt' r't.r',ttt'tr..s. iltr l't iii:riitiiig

ll) contest compctition

fl\ Rntlr A qn,l Il

B) Cynobacteriunr

D) Both A ancl Il

I3) Metabiosis

D) MutLralism

I ,.'tr

. is an obligate mutualism ti'etwccn :r lungus and a grecn nlga.

i- wr,i"t, one of the following is Nor a density-dependent ractor.

B) Predation

- D) None ol'the above

I-All thc parasitcs of one species in a single individuar host is ctrllcd

A) Infiapopr-rlation B) Metapopulation

D) None ol'the aboveC) I'}ostpopulation

l--.'...... is a rclationship between fwo organisms where one is harmed while the othcr is untll'cctecl.

B) MLrtualism

D) Parasitism

t- 'fhe mortality rate of organisms klllowing a type III survivorship curve is

Ii) higher in post-reproductive years

D) r-rnrelated to age

A)'l'ypc I

C) 'l'ypc III

lt-.......... compctition occurs lvhcn a

A) tntraspecilic

C) Apparcnt

2-'l'hc numbcr of intlivicluals per unit

A) survivorship

(-) rrrortrrlit_v

I3)'l'ypc Il

D)'fype IV

rcsource is inadcquate lbr thc nccds of all individuals.

li) ISxploitativc

D) Scramblc

area detcrmincs thc popultrtion's

I)) density

D) age distribLrtion
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13- .......is a biological interaction betdeen two or more organisms that is detrimcntet to at teist one of

them.

A) Antibiosis lt)Mutualtsm-
t

14- Which of the following factors will affect population growth rates?

A) net emigration-

C) birth rate D) all of the above

B) Prey

D) Parasites

16- What type of population associated with age 
_pySrmid 

wtich has en exfi,emel5r broad bGG?

A) a rapidly expanding population B) a stable

C) a'population where the birth rate : the death rate D) a population with more males ft*n female

17- Choose the factor that limits population growth.

15- Ohe ;f the fotiowing is Not related to the others

A) Predators

C) Pathogens

I8- One of the following is Not a result of Intraspecilic competition.

A) predation

C) disease

A) Stress

C) Constant loss

19- All factors which timit'the growth of populations

A) environmental resistance

20- The age distribution of a population reflects its

A) history of survival

C) potential for future growth

B) harsh weather

D) All are factors that could limit population growth

B) Dispersal

D) Social interactions

B) Biotic Potential

D) Both A and B

B) reproduction

D) all of the above

Answers table

Ouestion I 2 3 4 5 6 7 8 9 10 11 t2 13 t4 15 t6 l7 18 19 20

Answer
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III- Answer OJLy FIVE questions of the following: (20 marks)t. This opposite graph shows the relationship between prey

$ ':ti:' 
*'sitv and predator poputation density ;* l&-ffi
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'' kows grorvth curves for three popurations

a)

b)

c)

d)

selection specieS
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4. The following graphs shows Age Structure in different Hugnan populations

5. Illustrate the important aspects of life histories

Page 5 of 6
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6. Mention how to estimate patterns of survival within a population'
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Assiut University
Faculty of Science

Third level (Zoology Section)
Principles of Embryology (3342)

Department of Zoology June, 2015 Time: Two hours

I-select the correct answer from the alternatives given: (l0Marks)
1- Primitive streak is not found in:

a-Fishes b-Aves c-Mamm alian d-Reptilia

2- ln frog, gastrulation is completed by:
a-Epiboly b-EmbolY
c-Both epiboly and emboly d- Delamination

3- Which one is concerned with the reproduction in mammals:
a-Uriniferous tubules b- Seminiferous tubules

c- None of the above
4- Meroblastic cleavage occurs in:

a-Amphioxus b-Frog c-Rabbit d-None of these

5- Polar bodies are formed during the formation of:
a- ova b- Sperms c-Spermatocytes d-Enzymes

6- Which of the following is not found during development of Amphioxus:
a- Coelom b- Blastocoele c-Extraembryonic membranes

d- Germinal layer
7- Corona radiata is present in:

a- Amphibian egg b- Reptilian egg c-Avian egg d-Mammalian egg

8- Amnion develops in:
a-Reptilia b-Bird c-Mammal d- A11 of them

9- Parthenogenesis is:
a-Artificial fertilization b- Fertilization of egg by a sperm

c- Sperm dies without fertili zation
d-Eggs undergoes cleavage without fertilization

10-The eggs of elephant are:
a- Alecithal b-Microlecithal c- Mesolecithal d-Macrolecithal

II- Give an account on three of the followins: (30Marks)

A- Allantoic placenta.
B- Development of mesoderm in Amphioxus.
C- Mechanism of cleavage.
D- Various types of blastula found in some chordates.

ilI-l- Give the morphogenetic moYements in chick. (SMarks)

2- Describe the gray crescent formation and its importance in amphibian

development. (SMarks)

Best wishes
Prof. Abdallah B.Mahmoud
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1- (Marine ecosystem - Freshwater ecosystem - both) cover
71.8% of the Earth's surface.

2-Wave action in aquatic habitat can be considered as

(biotic factor - physical factor- chemical factor- all).
3- (Herbivorous - predators - producers- dissolved gases-

all) in aquatic habitat can be considered as abiotic factor.
4-Consumers in aquatic habitat include (zooplankton - algae-

both).

S-Organisms found in freshwater habitat include
B entho s - Nekton- Invertebrates-Vertebrates - all).

6- The middle step in eutrophication of aquatic ecosystem is
(the increasing of nutrients- algaLblooming- formation of
detritus). 

,

7- The deep water in marine habitat is the (profundal- the
benthic - the oceanic) zone.

8- The aquatic organisms include (Zooplanl<ton -
Phytoplankton - Nekton - all).

9- (Epilimnion- Metalimnion- Hypolimnion) is the deepest
portion of the lake.

10- Coral reefs devetopment is enhanced by (strong wave
action - high turbidity- both).
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+ Ir an ess*tial trace element for algae ( )'

PlY in aquatic habitat ( )'

).

1- Recycling of
nutrients.

2-Marine ecosystem

3-The Oceanic zone

4- Freshwater
ecosystem

5-Rivers * are the animals of the plankton ( ).

c and inorganic comPounds ( )'

,'
+ It gives a g"od indication of eutrophication ( )'

6- Basin
morphometry

7-T"he pelagic zone

8- Humic acid + g"nerarrsS% of the world's net primary production (

:lt-E*lihauowpart of the ocean ( )'

+ g"nerates ne-ty 3%o of the net primary production (

).

).

9-BOD

10- Chemicals in
aquatic habitat

l1- Zooplankton

l2- Ponds * have swift unidirectional water tlow ( )'

13- Estuaries + Is considered as one factor that determines any aquatlc strucnre ( /'

I

+ Is the open water of the lake ( ).l4- Cobalt, copper,
Zinc

15- Cu + Belongs to the Chelating compounds in natural waters ( ).
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1- A process takes place in bays in which they become
enriched by nutrients.

2- The depth at which rapid change in a substance occurs in
the lake.

3- A group of organisms found on thei mud of aquatic habitat.
4- A group of organisms that occupies a middle position in

the food pyramid.
5-The orgurrit compoundslhat decompose very slowly.
6- A factor that limits the distribution of corals in the tropical

zones.
7- Asubstance in the soil that buffers the effects of acid rains.
8- A dominant feature that structures the lotic environment.
9-The cause of absence or reduction of reefs from large areas

on the west coast of south and Central America.
l0- The open water characterized by the absence of contact
with either the lake bqttom or shore.

1- Very deep lakes, may have chemical stratification that
depends on ..

2- Estuarine structure is modified by a-.....
b-... . and C- ..

3- The. ..zone is the area located between high
and low tide.

4- .. .has an adverse effect on corals.
5- The importance of corals are: a.

-:(ert+J.r t . ) :4SYl *YLrJl j A.!Ji: lit4 :o u"
1- Increasing of phosphhtes in aquatic habitat.
2- Inqeasing of turbidity in the Red sea.

3- Addingfertilizers to aquatic habitat.
4- Decreasing salinity of water in the Red Sea.

S-Increasing of sulfur dioxide and carbon dioxide in the air.
With best wishes

r

b.
c.

d.
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The first question (10 Marks\

Choose the correct answer:

1- The largest supercontinent during the Permian period was known as

a) Pangaea b) Laurentia c) Gondwanaland d) Rodinia

2- Which of the following terms of things found in rocks is not part of the

Precambrian rock record?
a) stromatolites b) shelled organisms c) algae d) bacteria

3- The smallest formal unit of the Chronostratigraphy.
a) Peroid b) Stage c) Series d) Era

4- The Geologic age of Busilusaurus
a) Paleocene b) Eocene c) Quaternary d) Miocene

5- The principle of uniformitarianism is often summarizing
a) supernatural forces at work
b) conditions exiting today cannot form rocks as in the past

c) the present is the keY to the Past
d) rocks cannot be made in the laboratory

6- Greenhouse effect will lead to
a) an increase in Oxygen Production
b) greater rainfall
b) decrease in atmospheric pressure

c) an increase in the temPerature

7- The geologic age of the appearance of birds is
a) Quternary b) Permian c) Jurassic d) Miocene
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8- Which geologic period is named for its famous chalk deposits?
a) Cretaceous b) Jurassic c) Paleogene d)Triassic

9- Eras of the Standard Geologic Time Scale are subdivided into:
a) Eons b) Epochs c) Ages d) Periods

10- The first form of vertebrate life on the Earth
a) Jawless Fish b) Armored fish c) cartilage fish d) bony fish

The second question (10 Marks)
Compare between two only of the following:

1- The Hercynian and The Laramide Orogenies
2- The climate in Paleozoic and Mesozoic eras
3- The Proterozoic and Paleozoic biota.

The third question (10 Marks)
Write on four only:

1) Proterazoic clirnate 2)KIP ertinction event
3) Fossils succession 4) Radioilctive dating
5) Solar Nebula

The fourth questibn (10 Marks)

1- Tabulate the rock-bulding fossils throughout the Paleozoic Era.
2- Write the drivation of fol,!,r only of the following:

a) Miocene , b)Holocene c) Cambrian d)Triassic e) Carboniferous

Give one reason far four only of the following:
a) The formation of Atlantic Ocean b) The closure of Iapetus Ocean

c) The Formation of Indian Ocean d) The formation of Red Sea

e) The Mediterranean Salinity Crisis

dJ,iillJ C\.iJq d,Ui.Yl +*!l 6" i.ti*yt c*:
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Academic Year 2014t2g15, Second $ernester
Animal Physiology (2): 31(}Z

Total Marks: 5S
Time: 2 hour

Bate of Exam: Bl6I20tS
ln table please choose onlv one answer: d 0 marksl

1-Which structure predominates in the white matter of the brain?
a-myelinated axons b-neuronal cell bodies
c-ganglia of the parasympathetic nerves d-bundles of dendrites from the
enteric nervous system

2- Which part of a neuron transmits an electrical signal to a target cell?
a-dendrites b-soma c-cell body d-axon

3- Which functional division of the nervous system would be responsible for
the increased heart rate and sweating?
a-somatic b-autonomic c-enteric d-central

4- What type of non-neural cell provides myelin for the axons in peripheral
tract?
a-oligodendrocyte b-astrocyte c-Schwann cell d-satbllite cell

5- What type of glial cell is the resident macrophage behind the blood-brain
barrier?
a-microglia b-astrocyte c-Schwann cell d-satellite cell

6- tf a thermoreceptor is sensitive to temperature sensations, what would a
chemoreceptor be sensitive to?
a-light b-sound c-oxygen d-vibration

7- What is the target of an upper motor neuron?
a-cerebral cortex b-lower motor neuron c-skeletal muscle d{halamus

8- What ion enters a neuron causing depolarization of the cell membrane?
a- sodium b-chloride c-potassium d-phosphate

9- Which of these hormones is secreted in the tiver?
a- rennin b- somatomedin c- erythropoietin d- estrogen

10- The hormone known to participate in metabotism of calcium and
phosphorus is
a- mineralocorticoids b-calcitonin c-glucagon d-glucocorticoids

11- The processes of glycogenolysis, gluconeogenesis, and lipolysis are
stimulated by

". a-insulin b-gluctgon c'aldosterone d-melatonin

12- Adrenal medutta is innervated by............nervous system.
a-sympathetic b-parasympathetic c-autonomic d-central.

See Next Page



13- Cushing syndrome is results from;.................by adrenal gland.
a-hypersecretion of glucocorticoids b-hyposecretion of glucocorticoids
c hypersecretion of aldosterone d-hyposecretion of aldosterone

14- Synthesis and secretion of melatonin is affected by
a-light exposure b-level of tryptophan c-level of sertonin. d- level of tyrosine

15- ln uterine cycle, enddmetrium starts to repair itself and proliferate under
influence of..................
a-oestrogen b-progesterone c- FSH d-LH

16-The thick bundte of nerve fibers that connects the two cerebrat hemispheres
is ...............
a-corpus collosum b-basal ganglia c-hippocampus d-limbic system

17-The greatest concentration of serotonin is found in...................
a- gastrointestinal tract b- platelets c- CNS d-PNS

18-Upper motor neuron (UMN) originates in nuclei'deep in
a-cerebrum b-pons c-thalamus d-medulla oblongata

19- Mesissner's corpuscle as tactile receptor is found in...............
a-everywhere in the skin b-non hairy parts of the skin
c-deeper layer of the skin d- beneath the skin and deep facial tissue.

20- The possible causes of sensoneural hearing loss all of the following
EXCEPT...
a- certain viral or bacterial infection b- stroke or brain tumor
c- injury by loud noise - perforated eardrum

ll- Using diagram describe the following (20 marks, 5 marks each):

a- How steroid hormones exert their effects on their target cells.
b- Mechanism of ovulation
c- Mechanism of transmitter release from the presynaptic terminals
d- Process ofhearing.

lll'Answer on Five only of the following {20 marks, 4 marks each}

1- Effect of testosterone on basal metabolic rate.
2- What are the five plexuses and which spinal nerves contribute to each.
3- Explain how the secretions of the adrenal gland are regulated.
4- Explain the basic structure of a synapse

.. 5- Comparison betweefl sympathetic and parasympathetic system.
6- Write on the five types of sensory receptors.

-r"/

Good Luck!
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Final Exam (Cell BioloeV SLZZI

The exam in three pages

The first question: Choose the correct answers (18 onlv): Marks(18)
L-Neurofilaments are presents in ( A)Astrocytes (B)Neuron{C)Muscle cells.

2-Astrocytes cells contains (A) lntermediate filaments (B) Microfilaments(C)Microtubules.

3- Smooth muscles contains (A) Desmin (B )Vimentin (C Cytokeratin.

4-Peroxisomes destroys(A)Hydrogen peroxide(B)Hydrochloric acid(C)Free radicles.

5-Microbodies means (A )Peroixsomes (B)Residual bodies(C)autotysosomes.

6-4lpha particles of glycogen means( (A)large particles (B)small particles (C)medium) particles.

7- Beta granules of glycogen are present in(A)Muscle cells(B) Liver cells(C)Pancreatic cells.

8-Cell inclusions are, (A) Permanent(B)Temporary(C)Residual ,structures within the cells.

9-Dust and minerals are (A)Endogenous(B)Exogenous(ClBoth.

10-Survivial signal such as (A)Cell-cell contact(B) Radiation(C)Hormones.

Ll-Free radicals are molecules with (A) Unpaired (B) Paired (C) Stable of electrons.

12-Synchronybyinduction:involve(A)Temperaturecycles(B)Liehtcycles(C)Fittration'

13- Fas and the TNF receptor are ((A) lntegral (B)Peripheral (C) Carrier,membrane proteins with

their receptor domains exposed at the surface of the cell.

L4- Reactive oxygen species causes migration of Bax to the surface of the mitochondrion

which(A) inhibits (B)activate (C)stops, the protective effect of Bcl-2 and inserts itself into the

outer mitochondrial membrane punching holes in it.

15- The apoptosomes bind to and activate caspases (A)9(B)3(C)7,in apoptosis of internal signal.

16- Golden-brown, iron containing pigment which acumulated in the cytoplasm of the

phagocytes of spleen is (A)Haemosiderin (B) lipofucsin(C)Melanin.

17- The process by which a cell loses its ability to divide, grory and function. This loss of

function ultimately ends in death consequence of aging is called (A)Senescenceis (B)aging

(C)proliferation.



G1

1g-tn healthy cells, the outer membrane of mitochondria contains protelica$ed(A) Apaf-L(B)Bcl-

2{c)BAX. 2-(A) Apaf-L(B}Bcl-2.

19- Fat depots are(A) neutral lipids(B)masked lipids (c) phospholipids.

20-(A) Apaf-L( B) Bcl-2 (C) BAX ( D)caspase-g,activate other caspases{3&7).

Marb[1o]

L- Damage and lnflammation are induced in the final stage of necrosis ( ).

2- phosphatidylserine flipping to the outer plasma membrane represents sign of molecular

biochemicat features of apoptosis ( ).

3-Leakage of Ca++ and Ca-activated hydrolases degrade lipid, protein, RNA, DNA is character of

apoptosis ( ).

4-Multipotent stem cells can differentiate intb a iumber of cells, but only those of a closely

-*--relatedfamily 
of cells ( ).

S-Adult stem celts are hidden deep within organs, surrounded by millions of ordinary cells ( )'

6- The lag phase of growth, it is a long interval in'which there is little or no increase in the

number of cells present in the population. lt's length is variable even for cultures of same type

of cells( ).

7- Lymphotoxin means (TNF-p) death inhibiting binding to receptors at the cell surface ( ).

8- Metaphase contain any checkpo,na 
l ,. 

): 'n:

9- Antioxidant is donated electron ( ).

10- lipofuscin is thought to be end product of lysosomal activity( ).

Marks(6)

1-Reparative regeneration.

3-Dubling time.

5-Two chick points of cell cYcle

2-lnduced pluripotent stem cells.

4-Oxidative stress.
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Marks(5)

1-MorphologY of necrosis.

2-Stem cells function. .,

3- What makes a cell decide to commit suicide'

4- Apoptosis-lnducing Factor (Al F)'

5-Explain the growth curve.

Marks(4)

1_stem ceils are crassified according to the potency, into: (Totipotent-origopotent-Multipotent-

Pleripotent-U niPotent).

?l)lqrf!-al-slgp,9 of apo-ptosis: ( gax/gak channels open - No inflammation - Leakage of CytC -

rncreased mitochondriar permeabirity - cytc/Apafl - activated caspases cascade to activate DNase -
rr rLr sqJEu " "'""""":-:; :;;; * .,,+ i^t^ condensed apoptotic bodies form ).
Condensed nucleosomal DNA is cut into 200 bp fragments -

Marks(4)

1- Term used to describe the steady state level of oxidative damage in a cell, tissue, or organ

caused by the reactive oxygen species'

2- The process characterized by the declining ability to respond to stress, increasing homeostatic

imbalance and increased risk of aging'aslo-cf ated diseases followed by death

3.Brownpigmentsynthesizedbyspecialcellscalledmelanocytes.

4- Light brown pigment that fluoresces a golden-brown in ultraviolet light and is progressively

increased with advancing age'

fro

Th" ,"r"nth or"rtion, E*ol.in th" follo*in* (onlu on"tt- Marks(2)

- Why Reactive oxygen species is very dangerous'

- What is the best time to perform the cell subculture'

" End of questions

Dr. Ilanem Saad Abdel-Thwab
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Answer all the following questionS:

Q 1: Choose the correct answer (one answer only): (10 marks)

l. Human somatic cell has:
a)- 23 chromosomes b)- 32 chromosomes
c\- 46 chromosomes d)- 64 chromosomes

2. Division of cytoplasm following the nuclear division is known as:

3. Human gametes are:
a)- liver and kidney cells b)- sperm and ovum
c)- testis and ovary d)- DNA and RNA

4. The units that specif"v an organism's inherited characters are known as:

a)- cytokinesis
c)- cytolysis

a)- gonads

c)- sperms

5. The nuclear membrane disappears during:
a)- prophase

c)- metaphase

9. The viral genome of HIV consist:
a)- double-stranded DNA
c)- single-stranded DNA

10. Cristae is the inner foldcd membrane of:
a)- Colgi apparatus
c)- ER

i-ri.att Lili. iJtuyl +t+

b)- cytokine
d)- cytoskeleton

b)- chromatids
d)- genes

b)- prometaphase
d)- anaphase

b)- double-stranded RNA
d)- single-stranded

b)- mitochondria
d)- lysosome

6. The interphase ofthe cell cycle has three subphases:
a)- G|-G2-G3 b)- G-S-CI
c)- GI-S-G2 d)- Gl-Sl-M

7. The cells that are userl for preparation of an individual's karyotype are:
a)- all blood cell b)- white u'lood cells
c)- red blood cells d)- blood platelets

8. Crossing over is a process that occurs during:
a)- metaphase I b)- metaphase II
c)- prbphase I d)- prophase II

I
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Q2 f'iil in the following sentences: (20 marks)

l. The three mechanisms which contribute to genetic variation are: . . .. .....and

2. .is defined as an organism having a pair of two different alleles.

3. Genotype is a description of an organism's

4. A recessively inherited disorder shows up only in the individuals who inherit .... recessive

allele from parents.

5. Haemophilia is a sex-linked .... . trait defined by the absence of one or more.

6. Chromosomalaberration is common is rneiosisand includes ........ ...and .....

7. lsoleucine is produced t'nun threonine by the aid of an enzyme known as.....

8. The four macrolnolecules in the animalcellare. ...and..

9. ... and ...... are the two main processes that link gene to protein.

10. In the three consecutive bases specifo an amino acid.

11. Each ribosome has one binding site for .....and three binding sites for ....

Q3 Provide the definitions of only five of the following: (10 marks)

2. Down syndrome.l. Duchenne muscular dystrophy.

3. Tumer's syndrome. 4. Cri-du-chat.
5. Mutagens. 6. Helicase.

Q4 Write whether each of the following statement is True (y') orFalls (X): (10 marks)

l. Lysogenic virus's cycle ends in death of the host.

2. Gram-negative bacteria (lrave large amount of peptidoglycan) are pathogenic.

3. Lysosomal enzymes work best at pH = 8.

4. The cylinder with 9+2 pattern of rnicrotubules gives rise to the basal bodies of cilia and flagella.

5. Microtubules are made of actin protein.

6. Transcription is divided into three stages: initiation, elongation and termination.

7. rRNA is used to pick up its relevant amino acid in the cltosol.

8. In contrast to bacteria, eukaryotic cells have two RNA polymerases ([ and II) in their nuclei and

RNA polymerase II is used ftlr mRNA synthesis.

9. Glucose and fiuctose are aldose sugars.

10. Meiosis division occurs mainly in gonads to form gametes.

AOOD LUCK

Dr. Gamal Badr
Associate Professor of Immunology

Permanent Web site: http://rvrvrv.aun.edu.eglmembercv.php?M_ID:393
e-mail: gamal.badr@aun.edu.eg
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Answer the following question ( Write the answer only in your paper)

A- Fill in the blanks: (15 Marks)

l- Bulantidium coli inhabits ...... o o. ........ and may cause disease, ... o..

.It may reproducc asexually by....'.'........and sexually by..............
2- Thc final host of Toxoplasmu gondii is .....o.,........but the intermediate

host is ...............
3- Thc intermediatc host of Taeniu saginata is ................whereas in

Plasmodium spp., is .,.... ... ... .. o

4- Entumoebq gingivulis lives in .......,.........but Entamoebu coli lives

in... ..r.........they feed on.....o........
5- Inl'cction with Ancyostoma duodenule is due to..............but infection

with Ascaris lumbricoidgs is due to................,...

z)

6- The intcrmcdiate host of Heterophyes heterophyes is. ...but
thc transport host is.... .......

Ii- Choose the onc correct answer: ( 5 marks)

l- Thc second intcrmediatc host af Diphyllobothrium latum (Cyclops- cuttle-

Sheeps - frogs -none of them)
2- Taeniu saginata, to complcte its life cycle requires ( onc host-

two hosts-thrce hosts - none of them)
3- Thc insect vcctor of Trypunosoma rhodesierse is (mosquito- housc fly -

sand fly- none of them)
4- Man acts as a intcrmediate host in (Taenia saginatu - Echinococcus

granuloses - Cysticcrcosis - none of them)
5- Auto-infection, could be propagated by (Ascarls sp. - Encylostomu sp.'

Heterophyes heterophyes - Fusciola hepatica -Fusciola giganticu - Tueniu

saginuta * Taenia solium - none of them )

Ail: p;r -*-



C- Irut a suitable(r/ ) or (X) adjacent to the following:

l - Fcrtilization malc and f'emalc gametes of Plusmodium spp.

occurs in human blood.

2 -- lnf'cctivc stage of Giurdis intestinalis is trophozoite

3 - Infcctivc stag e of Ascaris sp is cysticercoid larvae

4 - The insect vectors of Plasmoclium sp is male anopheles

5- Inf'cctivc stagc of Entamoebu histolytica is trophozoitc

6- Lymnnun ,oiiliuudi snail is the intermediatc host of

Fusciola gigunticu
7- Intcrmcdiatc host, is the host harbouring asexual forms

of Protozoa
8- Tricltumonas hominis lives in human intestine
g- chagas disease is causcd by Trypunosomu ctuzi

l0- Int'cctive stagc of Fas ciola hepaticu is mctacercariac

l)- write brietly on four onlv of the following:
( itlustrating yuu" uoril* *ithEbeled drawings whcncver possible )

(10 marks)

(20 marks )

()

()
()
()
()

()
()
()
()

l- sourccs of parasiti c, Toxoplusma gondii infection.

2- Fusciolu and Schistosoma cercariae'

3- Types of eggs in Ascuris sP.

4- Erratic and facultative Parasites

5- Inf'ective stage, modc of infection and habitat of the following

parasitc s: riuchereriu bancrofli-Trichomonas vaginalis & Enterohius

vermiculuris.
ot"""""""""""tt""oooeor"""'ot"""t"t"o"t""""""

Good luck
Prof- dr,, Gamul H' Abed
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Important of studying vertebrate due to'

a) They are the most diverse of the animal phyla

b) Many of them are contrusted of hard parts

c) They have the greatest numbers

d) Bring topics conceming us.

The stem of rePtiles

3. Head movements of Amniota is allowed by the

a) Archosauria

c) Cotylosauria

a) Cervical vertebrae

c) Two first cervical vertebrae

b) Sarchopterigian

d) Archaeoptfx

b) Neck region

d) Trunk muscles

4. Accessory cranial nerves in amniot'a are

a) Optic and Olfactory b) Ophthalmic and auditory

c) Spinal accessory and hypoglossal d) oculomotor and trochlear



5. The Synapsidian skull is characterized by

a) Two pairs of temPoral fossae

b)pair of upper temPoral fossae

c) pair of lower temPoral fossae

d) no fossae in temPoral region

6. Snakes swallow big prey that due to

a) They have big mouth

b)They have sharP teeth

c) They have elastic stomach

d) Disappears of many bones from the temporal region

7. Diaphrigmaticus muscle exist in

8. Sinus venous incorporated into the heart wall of the

a) All Reptiles

c) Crocodiles

a) All Amniota

b) Crocodiles

9. Urodaeum of rePtiles Performs

a) Excretion

c) Osmoregulation

b) Contains sweat glands

c) has claws

b) Only Lizards

d) Amphisbanians

b) Lepidosauria

d) Sphenedon

b) Reproduction

d) A11 of the above

10. Dinosaur and crocodiles are belong

a) Cotylosauria

c) Pterosauria

b) Archosauria

11. Which of the following is untrue of the avian skin?

b) Contains oilY glands

d) bears horny scales



C./

12. Which avian group that has crop secret milk

a)Passeriformes

c) Psittaciformes

13. Air sacs Perform

14. Feather may Performs

a) Heat conservation

c) Flight

15. Avian ratite includes

a) Chicken

c) Ostrich

b) Columbiformes

d) Falconiformes

a) buoyancY b) Thermal regulation

c) Storage of air and respiration d) Non of the above

b) Sexual disPlaY

d) A11 of the above

b) Gulls

d) Falcons

1,6. Mammalian group exhibits an egg laying habit

a) Prototheria

c) Eutheria

b) Metatheria

lT.Whichofthefollowingbonesrepresentsthecollumellaauris

a) Incus

c) Malleus

b) Stapes

18. Mammalian jaw consists of

a) Dentary and maxillae

b)Dentary and squamosal

c) Dentary and jugal

d) Quadrate and articular

19.Which of the aortic arches partialty disappears during the development of

the mammalian embryo

a) The right fourth

c) The right and left

b) The left fourth



20. Cochlea of inner ear is responsible for

a) Balance

c) Head rotation

b) Sound

- Fill the spaces. ng commentarv needed

l. Embryonic membranes develops from. , while the egg shell

develops from.

2. Reptilian head carried off the ground by...

3. Mammalian neck supported by ... cervical vertebrae.

4. Two characters of amniota;l-.

2-...... .....

5. The inner ear of snakes is responsive to.

aaaaaaaaa aaaaaaaaaaaaaaaaaaaaaaaa aaaaaaaaa

(if.::===:r;,.!5rj::

..,+,=t*fr (10 marks)

- Compare between the

mammals

brain structure reptiles, birds and

(10 marks)

- Describe two items of the followins

A- Diapsidian skull and its modifications

B- The middle ear of mammals

C- Air sacs of birds.

II
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Final Exam in Insect Physiology I (343 E) (Time: two hour)

Answer the following questions:

Question no one:
l- Briefly, using a few sentences, describe what each of the following terms means.

(4 points)
Peritrophic membrane b- Neurosecretory cells

Vitellogenesis d- Plastron

Describe types of muscles on the basis of location and on the basis of the

arrangem.nt of myofibrils, mitochondria, and nuclei. (6 points)

Question no two:
1- Compare between the following: (4 points)

a- Synchronous and asynchronous muscles

b- Thelytokous and Arrhenotokous.
c- Peristalsis and segmentation
d- Symporters and antiPorters
2- How neurons transmit messages electrically and chemically? (6 points)

Question no three:
L- What is the significance for each of the following? (3 points)

a- Trachea lined with spiral cuticle (taenidia)'

b- passive ventilation is the only type of ventilation in smaller insects.

c- Terrestrial respiratory system has large internal surface, but few external

opening.
2- Describe the structure and chemical composition of insect cuticle and how new

cuticle formation; and summarize the process of cuticular sclerotization. (7

points)

Question no four:
l- Why do insects communicate? and how do insects communictte? (3 points)

2- Discuss unique features of the insect circulatory system with regard to: a)_

haemolympft circulation, b) chemical composition of the haemolymph and c)

functions of the haemolymph. (7 points)

Question no five:
1- Discuss how insect Malpighian tubules function? (4 points)

2- Insect hormones can be classified into three broad categories. What are these

categories and give an example of a hormone for each of the three. (6 points)

Good luck

a-
c-
)_


	1
	2
	3
	4
	5
	6
	IMG
	IMG_0001
	IMG_0002
	IMG_0003
	IMG_0004
	IMG_0005
	IMG_0010
	IMG_0011
	IMG_0012
	IMG_0013
	IMG_0014
	IMG_0016
	IMG_0017
	IMG_0018
	IMG_0019
	IMG_0020
	IMG_0021
	IMG_0022
	IMG_0023
	IMG_0024

